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So today’s triad is Magga triad, #16. “MaggÈrammaÓÈ dhammÈ. MaggahetukÈ dhammÈ. MaggÈdhipatino dhammÈ.” First you need to have a chart on ÈrammaÓa, ÈrammaÓa adhipati. The first is MaggÈrammaÓa. Now the Commentary explanation is: “Magga = NibbÈnaÑ maggati gavesati, kilese vÈ mÈrento gacchatÊ ti maggo.” This is the definition of Magga. The first definition is ‘maggati gavesati’. What is ‘maggati gavesati’? ‘Gavesati’ means to seek, to look for, to search. It searches, it seeks. That is why it is called ‘Magga’. What does it seek? ‘NibbÈnaÑ’. So something that seeks NibbÈna is called ‘Magga’. That means it is something that takes NibbÈna as object. In this case the root is Magga.





The next is a little difficult; ‘kilese vÈ’, it is an alternative definition. “Kilese vÈ mÈrento gacchatÊ ti maggo.” Here Magga is divided into two, ‘ma’ and ‘ga’. ‘Ma’ here means mÈrento (killing) and ‘ga’ means to go. It goes killing what? Kilese. It goes or it arises killing kilesas. That is why it is called ‘Magga’. Maybe the definition is a little fancy. In this case there is ‘ma’, and ‘gam’, and ‘a’ is put at the end. Then we get Magga. So something that seeks NibbÈna and something that arises killing kilesas is called ‘Magga’. So now you know what Magga is.





“MaggÈrammaÓÈ = Maggo ÈrammaÓaÑ etesan ti maggÈrammaÓÈ.” This is an adjectival compound. ‘Magga’ means Magga and ‘ÈrammaÓa’ means object. ‘Etesan’ (for them or of them) Magga is the ÈrammaÓa. So dhammas having Magga as ÈrammaÓa are called ‘MaggÈrammaÓa’. ‘Magga’ means Magga and ‘ÈrammaÓa’ means ÈrammaÓa, but here ‘MaggÈrammaÓa’ means some dhammas that take Magga as object.





When we say the dhammas that take Magga as object, we have to be specific. It cannot be in general. We will come to that. “Maggo ÈrammaÓaÑ etesan ti maggÈrammaÓÈ.” What do we get? What are those that take Magga as object? Which cittas take Magga as object?  Which take Magga as object, not NibbÈna as object? KÈmÈvacara kusala accompanied by knowledge and kusala abhiÒÒÈ, and also kÈmÈvacara kiriya accompanied by knowledge and kiriya abhiÒÒÈ. What else? Votthapana or manodvÈrÈvajjana.





From there we have to specify. The lower Magga person cannot take the higer Magga as object. A SotÈpanna cannot take SakadÈgÈmi citta as object. He also cannot take AnÈgÈmi Magga and Arahatta Magga cittas as object. Only what he has attained can he take as object. A SakadÈgÈmi can take both SotÈpanna Magga and SakadÈgÈmi Magga as object. The higher Noble Persons can take lower Maggas as object.





Here those that take SotÈpatti magga as object are a SotÈpanna’s kusala accompanied by ÒÈÓa, and kusala abhiÒÒÈ if he gets abhiÒÒÈ, and manodvÈrÈvajjana. Now those that take SotÈpatti Magga and SakadÈgÈmi Magga as object are the same cittas - manodvÈrÈvajjana, 4 kÈmÈvacara kusala accompanied by ÒÈÓa and kusala abhiÒÒÈ. Then there are those that take SotÈpatti Magga, SakadÈgÈmi Magga and AnÈgÈmi Magga as objects. All four can be taken by an Arahant. An Arahant’s manodvÈrÈvajjana, and here 4 kÈmÈvacara kiriya accompanied by ÒÈÓa and then here abhiÒÒÈ kiriya take all four Maggas as object. We must specify in this way. If we want to state in general, then it is manodvÈrÈjjana, kÈmÈvacara kusala accompanied by ÒÈÓa 4, kÈmÈvacara kiriya accompanied by ÒÈÓa 4 and the 2 abhiÒÒÈs. How many? 1 + 4 + 4 + 2, so 11. They take Magga as object. 





Then how many aggregates are there? Four. How many Èyatanas? Two. DhÈtus? Two. And Sacca? There are kÈmÈvacara cittas. So there is Dukkha. We have to state cetasikas also. There are 33 cetasikas. There are no virati and no appamaÒÒÈ. Among the 33 cetasikas vedanÈ is vedanÈ aggregate. SaÒÒÈ is saÒÒÈ aggregate. The remaining 31 cetasikas are sa~khÈra aggregate. The eleven cittas that take Magga as object are viÒÒÈÓa aggregate. There are four khandhas, two Èyatanas (manÈyatana and dhammÈyatana), two dhÈtus (manoviÒÒÈnadhÈtu and dhammadhÈtu). Then what about Truths? There is just one Truth, Dukkha. They are not Magga; they take Magga as object. They are kÈmÈvacara cittas. 





Student: What would be an example of taking Magga as object?





Teacher: Those with abhiÒÒÈ can take another person’s consciousness as object. ManodvÈrÈvajjana precedes the abhiÒÒÈ thought process. So it is said to take Magga as object. Then the four kusala cittas and mahÈkiriya cittas provided they have attained this themselves can take Magga. You know a SotÈpanna can take his SotÈpatti Magga citta.





Student: After attaining, not at the moment of attainment?





Teacher: Yes.





Student: In the reflection thought process? 





Teacher: Right, in the reflection thought process. And the SakadÈgÈmi can take both SotÈpatti Magga and SakadÈgÈmi Magga. The Noble Person may do this not only as reflection. Sometimes he may want to take his Magga citta as object. Actually it is a past object.





The second word ‘Maggahetuka’ is difficult. We will look at the Commentary explanation and then we will check it with Nekkhepa KaÓÉa. Maggahetuka is defined as “aÔÔha~giko pi maggo paccayaÔÔhena etesaÑ het| ti maggahetuka.” What do you take as Magga here? AÔÔha~giko (the eight factors). Thats OK. What do you take as hetu? Roots? No. PaccayaÔÔhena hetu - that means ‘hetu’ here does not mean root, but that it means condition or cause. So ‘maggo etesaÑ het| iti maggahetukÈ’. Magga is their cause. So in this first explanation ‘hetu’ does not mean root; it means cause.





Now look at the Magga citta. Along with the Magga citta there are 36 cetasikas. Among the 36 cetasikas 8 are Magga. Right? So here Magga citta and the other 28 cetasikas have these eight factors as their condition. That means aÒÒamaÒÒa condition and so on. According to this, ‘Maggahetuka’ means dhammas that have Magga as condition. 





Student: The eight factors are conditioning?





Teacher: Yes, so it is the eight factors, those which are accompanied by the eight factors. So we leave out the eight factors. According to this explanation we take 4 Magga cittas and 28 cetasikas.





Student: This is Magga condition in PaÔÔhÈna?





Teacher: That’s right. That is the first one. Please read the DhammasangaÓÊ. “Katame dhammÈ maggahetukÈ? Ariyamaggasama~gissa.” That means who is endowed with Ariya Magga. That means a person at the moment of Magga. ‘Sama~gi’ means to be endowed with. “Ariyamaggasama~gissa magga~gÈni ÔhapetvÈ (leaving aside the magga~gas, the factors of Magga) taÑsampayutto (accompanied by them, accompanied by the eight magga~gas) vedanÈkkhandho, saÒÒÈkkhandho, sa~khÈrakkhandho, viÒÒÈÓakkhandho, ime dhammÈ maggahetukÈ.” So according to this first definition, ‘Maggahetuka’ means 4 Magga cittas and 28 cetasikas. Right? The 8 Magga~gas are excepted, so we get 28 cetasikas. So in this definition ‘hetu’ means cause.





Now let us go to another meaning, another explanation. “MaggasampayuttÈ vÈ het|, magge vÈ het| ti maggahet|.” And then “te (‘Te’ means maggahetu.) etesaÑ het| ti pi maggahetukÈ.” You notice the repetition of hetu here. There are two hetus here and one is elided. First we have Maggasampayutta hetu. Here ‘hetu’ means roots, not cause. What is Magga? The eight factors. Maggasampayutta hetu, so it is that root which is accompanied by Magga factors. What do you get? Do you get alobha and adosa? You have to look among the eight factors. 





Student: Amoha only.





Teacher: That’s right. So ‘Maggasampayutta hetu’ means amoha or SammÈdiÔÔhi. And then we have ‘magge vÈ het|’. Oh, I’m sorry. ‘Maggasampayutta hetu’ means alobha and adosa because amoha is Magga (the Magga factor of paÒÒÈ). Alobha and adosa are not Magga. Right?





Student: Yes. They are not among the eight factors.





Teacher: When you say those roots that are accompanied by Magga, that means alobha and adosa. You have to look at the 36 cetasikas. Among the 36 cetasikas three are called ‘roots’ (alobha, adosa and amoha). Alobha and adosa are not Magga. Amoha is Magga. So those hetus accompanied by Magga - that means those hetus that are accompanied by amoha, that is, alobha and adosa. That is according to “Maggasampayutta vÈ het|.” It’s complicated.





The next one is “Magge vÈ het|.” That means the root which is in the eight factors or among the eight factors. So you get what? Only amoha here. ‘Magge vÈ het|’ means amoha. ‘MaggasampayuttÈ het|’ means alobha and adosa. So if we combine these two, ‘Maggahetu’ means the three roots (alobha, adosa and amoha).





“Te etesaÑ het|” (They are their hetus). So actually the word should be Maggahetu hetuka, but sometimes one word is elided when the word is repeated. So we get only Maggahetuka. Actually it should be Maggahetu hetuka (those that have Magga hetu as hetu). OK. This is the second definition given in the Commentary. 





Now what about the DhammasangaÓÊ? “Ariyamaggasama~gissa sammÈdiÔÔhi maggo ceva hetu ca, sammÈdiÔÔhim ÔhapetvÈ taÑsampayutto vedanÈkkhandho, saÒÒÈkkhandho, sa~khÈrakkhandho, viÒÒÈÓakkhandho, ime dhammÈ maggahetukÈ.” That does not correspond to this definition. 





So let us read the next one. “Ariyamaggasama~gissa alobho, adoso, amoho, ime dhammÈ maggahet|. TaÑsampayutto (That means Maggahetu.) vedanÈkkhandho, saÒÒÈkkhandho, sa~khÈrakkhandho, viÒÒÈÓakkhandho. Ime dhammÈ maggahetukÈ.” So according to this second definition those that have Magga hetu as hetu.





Student:  Only the three (alobha, adosa, amoha). 





Teacher: Why? Only the three? No. Those that have these three. What do you get? Four Magga cittas and how many cetasikas? 36 or 33?





Student: 33.





Teacher: Right, but when we take them one at a time, the other two are there. So actually we take all 36 cetasikas here. When one is said to be taken as hetu, the other two accompany the rest. When alobha is said to be hetu, the others are accompanied by hetu. Right? We get all three. We do not leave out any hetus here. That is why in the DhammasangaÓÊ it is said “alobho adoso amoho ime dhammÈ maggahet| taÑsampayutto.” There is no ‘ÔhapetvÈ’ here. Right? So there are 36 cetasikas here. Here ‘hetu’ means root, not paccaya as in the first definition.





OK. Let us look at the next one. “SammÈdiÔÔhi sayaÑ maggo c’eva hetu ca.” That is the same as what is in the DhammasangaÓÊ. ‘SayaÑ’ means himself, itself. SammÈdiÔÔhi itself is Magga and also it is hetu. SammÈdiÔÔhi is both Magga and hetu. Right? Alobha and adosa are not both Magga and hetu, but amoha is both Magga and hetu.





“SammÈdiÔÔhi sayaÑ maggo c’eva hetu ca iti (That means thus.) maggo hetu etesan.” That means those that have Magga as hetu “iti pi maggahetukÈ” - actually those that have SammÈdiÔÔhi as hetu, those that are accompanied by SammÈdiÔÔhi. How many? Four Magga cittas and 35 cetasikas excepting SammÈdiÔÔhi or amoha. 





If you read the DhammasangaÓÊ, the second method, “Ariyamaggasama~gissa sammÈdiÔÔhi maggo ceva hetu ca, sammÈdiÔÔhiÑ ÔhapetvÈ (You leave out SammÈdiÔÔhi.) taÑsampayutto vedanÈkkhandho, saÒÒÈkkhandho, sa~khÈrakkhandho, viÒÒÈÓakkhandho, ime dhammÈ maggahetukÈ.” So those that are accompanied by SammÈdiÔÔhi are the four Magga cittas and 35 cetasikas. 





So we have to take according to these three definitions. The first in the AtthasÈlinÊ corresponds to the first in the DhammasangaÓÊ. The second in the AtthasÈlinÊ corresponds to the third in the DhammasangaÓÊ. The third in the AtthasÈlinÊ corresponds to the second in the DhammasangaÓÊ. 





What is the first definition? Those that have Magga as a condition. That is the four Magga cittas and the 28 cetasikas, excepting the eight factors. According to the second definition, it is those that have Magga hetu as hetu. ‘Magga hetu’ means all three. So that is the four Magga cittas and all 36 cetasikas. According to the third definition, those that have Magga or SammÈdiÔÔhi as hetu are the four Magga cittas and 35 cetasikas, so Magga cittas and cetasikas. 





Aggregates and so on  - how many aggregates? There are four aggregates. And bases? Two. Elements or dhÈtus? Two. What about Truths? There are Magga cittas and cetasikas. Only one, the Fourth Noble Truth. How many Magga arisings are there? 29 Magga arisings are out of Truth and there is no Phala here.





The next one is MaggÈdhipatino dhammÈ. You know the word ‘adhipati’. Right? “AbhibhavitvÈ pavattanaÔÔhena maggo adhipati etesan (That’s the main thing.) ti maggÈdhipatino.” They have Magga as their chief, as their dominating factor. Why is Magga here called ‘adhipati’? “AbhibhavitvÈ pavattanaÔÔhena” (It arises dominating others.). ‘AbhibhavitvÈ’ means to dominate. That is why adhipati is called ‘dominance’. So abhibhavitvÈ pavattanaÔÔhena is the meaning of adhipati. Magga is called ‘adhipati’ because it dominates, it arises dominating others. And those which have Magga as their dominance or as the dominating factor are called ‘MaggÈdhipatino’.





But you have to understand that there are two kinds of adhipati. There are ÈrammaÓa adhipati and sahajÈta adhipati. So what about when you take it to refer to ÈrammaÓa adhipati? So it is those that have Magga as their adhipati, those that take Magga as intense object. In that case what do we get? It must take Magga as an intense object, not just as an ordinary object. Therein lies the difference. They are the kÈmÈvacara kusala ÒÈÓasampayutta and kÈmÈvacara kiriya ÒÈÓasampayutta. Actually they must take their own Magga, not other’s Magga. One’s own Magga can be taken intensely, but not another person’s Magga. Then there are the 33 cetasikas without the virati and the appamaÒÒÈ.





What does this book say? Let us see. MaggÈdhipatino - oh, it goes one by one. SotÈpanna’s kÈmÈvacara kusala accompanied by knowledge which takes SotÈpatti Magga as intense object. Then SakadÈgÈmi’s kÈmÈvacara kusala accompanied by ÒÈÓa which takes SakadÈgÈmi Magga as intense object. AnÈgÈmi’s kÈmÈvacara kusala accompanied by ÒÈÓa takes AnÈgÈmi Magga as intense object. And then Arahant’s kÈmÈvacara kiriya accompanied by ÒÈÓa that takes Arahatta Magga as intense object. There are 33 cetasikas without virati and appamaÒÒÈ. Only one’s own Magga is taken as intense object.





What about when we take it to mean sahajÈta adhipati? “Maggo adhipati etesan (They have Magga as adhipati).” Normally we take four Magga cittas and what? Let’s say 36 cetasikas, but let us see what we have to leave out. How many adhipatis are there? Four. What are they? Chanda, viriya, citta and vÊmaÑsÈ. How many Maggas are among them? Is chanda a Magga? No. Is citta a Magga? No. Is viriya a Magga? Yes. Is vÊmaÑsÈ a Magga? Yes. There are two Maggas. There can be no two adhipatis at the same time. There can only be one president. OK.





Student: I thought the Magga citta was the adhipati.





Teacher: No. We cannot take citta. We take only the Magga factors. So it is those that are accompanied by citta. Citta is adhipati, but it is not Magga. 





So there are four Magga cittas. When viriya is adhipati, then there are 35 cetasikas without viriya. When vÊmaÑsÈ is adhipati, there are 35 cetasikas without amoha. We cannot just say there are 35 or 34 cetasikas.





Let us see the DhammasangaÓÊ. “Katame dhammÈ maggÈdhipatino? AriyamaggaÑ adhipatim karitvÈ ye uppajjanti cittacetasika dhammÈ, ime dhammÈ maggÈdhipatino.” So that means ÈrammaÓa adhipati.





Then “Ariyamaggasama~gissa vÊmaÑsÈdhipatipateyyaÑ (That means vÊmaÑsÈ adhipati.) maggaÑ bhÈvayantassa vÊmaÑsaÑ ÔhapetvÈ taÑsampayutto vedanÈkkhandho, saÒÒÈkkhandho, sa~khÈrakkhandho, viÒÒÈÓakkhandho. Ime dhammÈ maggÈdhipatino.” Here only vÊmaÑsÈ adhipati is mentioned. Viriya or viriya adhipati is not mentioned. We must take viriya here also because viriya is both Magga and adhipati. When talking about Magga or enlightenment, paÒÒÈ is predominant. That is why paÒÒÈ only is mentioned here, why vÊmaÑsÈ only is mentioned here. In general we must take viriya adhipati. So here we must take vÊmaÑsÈ when it is adhipati and also viriya when it is adhipati. 





Student: So in fact at Magga only vÊmaÑsÈ is predominant?





Teacher: No. Both can be or actually any one of them can be adhipati. Only vÊmaÑsÈ is mentioned here because with regard to Magga or enlightenment, vÊmaÑsÈ is more important than viriya. 





There is one more thing that is not mentioned in the DhammasangaÓÊ, but in the ®ikÈ there is another meaning. That is ‘MaggÈdhipati’ means just Magga which is adhipati. MaggÈdhipatino is Magga which is adhipati. What do you get? Here it is not ‘accompanied by’ or ‘not something having some other thing’. MaggÈdhipati here is not an adjectival compound. Here it is a kammadhÈraya compound. It is something that is both Magga and adhipati. So it is viriya and paÒÒÈ. We take only two in that case.





There are three definitions or meanings for the third word ‘MaggÈdhipatino’. The first definition is those that have Magga as adhipati. That means those that take Magga as intense object. The second definition is those that have Magga as adhipati. That means those that are associated with Magga as adhipati (as predominant factor). The third definition is Magga which is adhipati. So in that case when viriya is predominant, we take viriya only. When vÊmaÑsÈ is predominant, we take vÊmaÑsÈ only.





There are kÈmÈvacara kusala, kÈmÈvacara kiriya, Magga and cetasikas. Right? So how many aggregates? Four. Œyatanas? Two. DhÈtus? Two. And Truths? Now let us see. There are Magga citta, kÈmÈvacara kusala and kiriya cittas. There are two Truths, Dukkha and Magga. There are Magga arisings out of Truth, but no Phala arisings because there are no Phala cittas here. KÈmÈvacara kusala four and kÈmÈvacara kiriya four belong to Dukkha. The Magga four do not belong to anything.





What about all inclusive or not inclusive? No, it is not all inclusive. There is no NibbÈna and no r|pa, but that is not all. There are those that do not take Magga as object always and those that take Magga as object only sometimes. Right? What are those that never take Magga as object? What are they? Akusala. Right. What about ahetukas? All the ahetukas except manodvÈrÈjjana, the 17 ahetuka cittas. And then there are the kÈmÈvacara kusala ÒÈÓavipayutta. There are all eight kÈmÈvacara vipÈka. KÈmÈvacara kiriya without ÒÈÓa we get. Then there are the r|pÈvacara cittas except the two abhiÒÒÈs. Although you except these two abhiÒÒÈs, you still get 15 r|pÈvacara cittas because there are ordinary fifth r|pÈvacara jhÈnas and abhiÒÒÈ jhÈnas. There are also ar|pÈvacara twelve. And then there are the four Phala cittas. Also there are 52 cetasikas. Those are the ones that do not take Magga as object at any time.





Then we have to consider those that take Magga as object, but they do not take Magga as object always. Sometimes they take Magga as object and sometimes they don’t. For example, the kÈmÈvacara kusala citta accompanied by ÒÈÓa when we are studying does not take Magga as object. These types of consciousness and others when they do not take Magga as object are what? ManodvÈrÈvajjana, four kÈmÈvacara kusala with ÒÈÓa, four kÈmÈvacara kiriya with ÒÈÓa, two abhiÒÒÈs, 38 cetasikas. 





And then there are r|pa and NibbÈna. So there are those that do not take Magga at any time and those that do not take Magga sometimes. And then there are those that do not take Magga or any other thing at all as ÈrammaÓa, those that do not take an object at all. Those are r|pa and NibbÈna. So you have to differentiate three groups here: Those that do not take Magga at any time, those that do not take Magga sometimes, and those that do not take anything at all. 





Student: In reality would viriya ever be the adhipati in Magga consciousness?





Teacher: Yes, it can be. The Sub-Commentary explains that it is said that way because paÒÒÈ is more important for realization of Truth, enlightenment. That is why only paÒÒÈ is mentioned in the DhammasangaÓÊ, but we have to take viriya also. Viriya can be a predominant factor.





Now we will go to the next one, but we will not finish the next one. It is also difficult. “UppannÈ dhammÈ. AnuppannÈ dhammÈ. UppÈdino dhammÈ.” How is uppannÈ defined? “UppÈdato paÔÔhÈya yÈva bha~gÈ uddhaÑ pannÈ gatÈ pavattÈ ti uppannÈ.” UppannÈ is divided into ‘u’ and ‘pannÈ’. ‘U’ here means uddhaÑ (above); ‘above’ means later. ‘PannÈ’ here means gatÈ. What is gatÈ? ‘GatÈ’ means to be gone. ‘GatÈ’ here means pavattÈ, not really going, but arising or existing. Now in PÈÄi those roots which have the meaning of going also have the meaning of understanding, also have the meaning of existing, also have the meaning of awakening. Here the root ‘gam’ is said to mean pavattati, pavattÈ (to be or to exist). So they exist above (uddhaÑ). ‘Above’ means what? “UppÈdatopaÔÔhaya yÈva bha~gÈ.” That is what is meant by uddhaÑ here - from genesis up to dissolution. How many sub-moments are there? Three sub-moments. So uppannÈ according to this definition means those that exist having these three moments. During these three moments they are called ‘uppannÈ’ according to this definition. You know the meaning of the word ‘paÔÔhÈya’ (beginning with). So beginning with uppÈda yÈva (until) bha~gÈ (dissolution). So simply it means from uppÈda to bha~gÈ. So ‘uppannÈ’ means those that are really present, that are still existing, that are in the stage of uppÈda, or Ôhiti, or bha~gÈ. That is what we call ‘present’. When we say something exists, we means that it has these three sub-moments. That is uppannÈ.





“AnuppannÈ = Na uppanÈ ti anuppannÈ” (Those that are not uppannÈ). UppÈdino - oh, let’s leave it alone today. 





“UppÈdato paÔÔhÈya yÈva bha~gÈ uddhaÑ pannÈ gatÈ pavattÈ ti uppannÈ.” What kind of cittas and cetasikas? That means those that are present, those that have the three sub-moments. When something is said to have these three sub-moments, then that something is existing right now. When it has gone through these three moments, it has past. When it has not yet reached these three moments, it is future. Right? Three moments past, three moments present, three moments future - when it is in the middle having these three moments, then they are said to be the real present. By uppannÈ we mean the dhammas belonging to the present moment, dhammas at the present moment.





What dhammas are they? All cittas, all cetasikas, all r|pas. So all cittas, cetasikas and r|pas that belong to the present time or that belong to the three moments of existence (uppÈda, Ôhiti and bha~gÈ). That is not difficult.





The next one is difficult because there is a twist, na uppannÈ anuppannÈ. As it stands, it means those that are not uppannÈ are called ‘anuppannÈ’, so let’s say non-uppannÈ. Then what would they be, those that are not uppannÈ? Now read the DhammasangaÓÊ.





“Katame dhammÈ anuppannÈ? Ye dhammÈ ajÈtÈ abh|tÈ asaÒjÈtÈ anibbattÈ anabhinibbatta apÈtubh|ta (They are all synonyms of anuppannÈ.) anuppannÈ samuppanÈ anuÔÔitÈ asamuÔÔhita anuppannÈ anuppannaÑsena sa~gahita r|paÑ vedanÈ saÒÒÈ sa~khÈra viÒÒÈÓaÑ.” It doesn’t say anything here about whether it is past or future.





Student: AjÈtÈ is not born?





Teacher: Not born, yes, not arisen. Look 
